A1 v Rk g D 35 il

# B 1B B B # R &
X i %R o1\ FE = Al D085
48% 52% | 53% |56%1I1H1E|56%11E2E|56% 11835 [55%11§|525%21F 56502

=B LR 80 50 1.25/1 - 5m—+1.25/1 10 FOESATmE 3R | 28R | (—)
=R 100 50 1.25/1 — 5m—+1.25/1 10 %@%%%Egﬁ 1.5m aind |2 s (=)
%zf}%&fg’% 100 50 1.25/1 - 5m+1.25/1 | 10 SR LRI R I
I o 125/1  |20m+1.25/1 — — sEsRY | 285R8 | (—)
=R 200 60 125/1  [20m+1.25/1 — — 0.4 (2)
%2%%%‘@%&% 200 60 125/1  |20m+1.25/1 — — (=)
FE1iEEFEMthE 200 60 1.25/1  |20m+1.25/1 — - ARERE | 2. SEERE| (—)
F2rEEEMtE 200 60 1.25/1 20m—+1.25/1 = = (=)
EEEHig 200 60 1.25/1  |20m+1.25/1 - - (=)
ERmEms | 200 o 15/1 | 31m+25/1 - - ‘.%ég‘g%%ﬁi am | SEERY | sEER | (D)
[SE 3:ubc 400 80 15/1 31m+2.5/1 - - — — L
T bl 200 60 15/1 31m+25/1 — — 0.6 S5EfE | 3B | (D)
T Kihig 200 60 1.5/1 31m+2.5/1 — — FL
TEH A 200 60 15/1 31m+2.5/1 - - B B Tl
) 100 50 1.25/1  |20m+1.25/1 — — 0.4 AR |2, SEFRE | B(Z)
REQGNES 200 60 1.5/1 31m+2.5/1 — — 0.6 S5k | SEME [O(2)




